1100 Bi-Fold
Framed Shower Door

www.bascoshowerdoor.com

Product Features

Tempered safety glass

Metal Cuts

SC702 Curb = Opening - 1/8”

SC508 Wall Jamb = Unit hgt. + 3/8”
SC552 Strike Jamb = Unit hgt. + 7/16”
SC703 #4 Hinge Rail = Unit hgt. - 1 5/8"
SC706 Hinge Jamb = Unit hgt. + 7/16”
SC708 #3 Handle Rail = Unit hgt. + 7/16”

SC711 #2 Center Mag Rail = Unit hgt. + 7/16”

SC549 #1 Strike Rail = Unit hgt. + 7/16”
SC899 Hinge Panel Tops =
(Unit Width/2) - 1 5/8”

SC899 Lead Panel Tops = (Unit Width/2) - 7/8”

1100 Parts List

A. 1 Roller Track

B. 1 Roller Bracket

C. 2 Nylon Roller Bearings

2 #8 x 3/8" Hex Head Screws
2 Wall Jambs

6 Plastic Wall Anchors

6 #8 x 1 1/2" Truss Head Screws |

2 #5 x 1/2” Truss Head Screws

1 Glazed Bi-Fold Panel Assembly

1 Strike Jamb

1 Headless Pivot Pin Screw

6 #8 x 3/8" Truss Head Screws

1 Clear Vinyl Deflector (36")

1 Interior Handle

1 Exterior Handle

2 #6-32 x 1 1/4" Round Head Screws
1 BASCO Decal

D.
E.
F.

G.
H.
J.

K.
M.
N.
P.

R.
S.
T

u.

=7

=7

¢ 4 !
T
238
K

Options
Glass patterns
Finish

Calculations

Maximum allowable width of unit = 36
Maximum allowable height of unit = 67

Glass Size

Door glass ht. = Unit ht. - 3 1/2
Hinge Panel glass width =

Hinge Panel top - 1 7/8
Lead Panel glass width =

Lead Panel Top- 1 7/8

Copyright © Basco Shower Doors of Elegance 2001. All rights reserved.

&

o=

11-17-10


http://www.theshowerdoorstore.com/Door_1100.htm
https://www.theshowerdoorstore.com/Group1b.htm

